T

fadhiac (A01)

TH4 | R6BE WREEHER > - FHTE SR TF GROFHdk HEX OB - 3 0 St 3R
A) THEXy ARk kR
THX Sy - AR - R - A Bikk HLAZ e (AiflED) e (4E) KR e
ARk k3R
= 1
Wrh T
= 1
EHI T
= 1
Eitell TE W, WA RRRLIS O
) , it A R NS (R )
m3 600
R TR, B B0
m3 50
LAE (R ESEE)
m3 600
BT
= 1
R Gt 1) B T 2. 5mPL 4. OmoAi
m3 180
R Gt 1) i e 2 2. 5mATi
m3 180
LR T
= 1
RS () 13) BUGHK A Y, DE VYR L B ED
WE e REME L
m2 20
- T IR




T HEiRfh R (R01)

<

TH4 | R6KBL EREMERN o - bt SERTHE (EHOFRR HEX OB - 3 0 St 3R
A) THXY ARk kR
THXSy - THE - R - M) Bk HLAZ Gl R (4[E) KR e
AR T
= 1
S TE R GRS EARY BET)
m3 290
B ALy
m3 290
B L
= 1
AT
= 1
FEAETY b TAEXK 5y A ARy b L, HiE T : 250m
2Aif
m2 21
HERE 1
= 1
(==
= 1
RIE D T
m3 30
PRAE Y TE A A
m3 50
HWEL T
’ m3 10
P 1




T

THE4 | R6EL VHRESER o - PEFPE SEATHE (HOTMHE FER Sy RS A ANV S
A1) TR X5y b o R
TFX gy « TRE - FER - FmB1 FS BT g (FilEl) & (4mE) B T
HIR L T
D
m3 60
ST FTHERE T (K& HAAT)
35 b o bR
Y 1
b 7= R ARV )~ EAS 1 18-8-40 (B IF)
m3 92
HOAMEA W Bk A7 9v17/40~0
m3 17
NV a9 )~ K& 1 18-8-40 (E4F)
m3 1
ST FTHERE T (K& HAAT)
475 7= U BERE
= 1
b 7o ek ARy ) - EKS : 18-8-40 (EkP)
m3 72
HiAfA AT 1R 2R 79 V4740 ~0
m3 15
NV a7 )~ A& 1 18-8-40 (E4F)
m3 1
LTI R T
25V =}
=V 1
FERSRY FERER IR R Ty v T/ 40~0, HUE
:0. 2m
m2 22
— 3 — %l:m%/a\




T

THE4 | R6EL VHRESER o - PEFPE SEATHE (HOTMHE FER Sy RS A ANV S
A1) TR X5y B R
TFX gy « TRE - FER - FmB1 FS BT g (FilEl) & (4mE) B T
EVZER BEREOFE 8 b X eRE,
FERE D R S 19m, 27 - MG 1 18-
840 (P, AE  — ek, 1) - m3 150
T T O FERE - — B
m2 332
je ) et SINE D)
Hhm2 217
H bk B MR D FEAA - U 5 R L B Hip t=1
0
m2 15
KN AT R - RS TR VP65, T4 L
m 32
AR
m3 62
W HHE 1R A4
m2 4
PEABHET
= 1
n-7" - 444 Mk s 1. 5m, Bk - (EER - H=1. 5m, EAv%
L
m 44
Xk FHEA H=1. bm, fi TX 4y [
A, B - AR MR L. 50m AvF
i 16
FkE AR H=1. b, i TR 4y SR
FE, BIFE - AR M= 1. 50m Ay
i 1
-4 - TE IR




1

=

9

=Ry

<

ez (A01)

TH4 | R6BE WREEHER > - FHTE SR TF GROFHdk FHENX Sy OB - g~ 0 bR
) THEXy ARk et R
THX Sy - AR - R - A Bikk HAL Gl e (4E) KR e
HER A T
= 1
HEK i) T
= 1
3B LALHEK B
m 23
45 LK B
m 19
55 LALHEK B
m 2
KM
& 1
B IR
= 1
HWIAL
= 1
Bt T
= 1
295 BB HiEhE
& F 1
35 A HERE
& F 1
_ 5 e U




=

=Ry

SR

ffz¢ (K01)

J— = BB Pea
TH4 | R6BE WREEHER > - FHTE SR TF GROFHdk FHENX Sy OB - g~ 0 bR
) THEXy ARk et R
THX Sy - AR - R - A Bikk HAL Gl e (4E) KR e
455 BB HiERE
& F 1
HEEYRE
= 1
BEL/EES
= 1
LS AR XS
m 36
/D) - MEEEE L - R - 5y
m3 26
LG an
= 1
THAERK T
= 1
T
= 1
AR BT
= 1
A2 R A B
AR 40
B L HEE
= 1

=N

N
Zim




Ry

=,
Hj

o2

TafhEe (N01)

TH4 | R6BE WREEHER > - FHTE SR TF GROFHdk HEX OB - 3 0 St 3R
A) THXY ARk kR
THXSy - THE - R - M) Bikk HLAZ Gl R (4[E) KR e

IR

= 1
miaRE (FEL)
= 1
ol T
= 1
B E P
= 1
Tl
= 1
— M A
= 1
Tt
= 1
TR K Ol 5 1 B A
= 1
THA G
= 1
7. 1




